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Graph . Sketch the graph.
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Why can't x be equal to 47?
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What are the excluded values of x in:
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NOTE:

from this point on in this
course, you may assume
that all values of x that
would make a denominator
zero are excluded
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u-v , 6u-3v

P el T

<V

T
T\




October 31, 2017

m-3n _ m+3n
6m’n  6m’h




October 31, 2017

@ 16) 22 5 46 o
- 36 B - 5 B 19
Ty
- Sy SX A2 )
/W
6 (v 5_{:(\?() 2\ \SXJ
X-T() 4 («) H(%-1)
MX@ - Sy - ’2\_”
W =5 % , u
ﬂ(k’(j / g (x-1)
— )(/7
RV SR 554
g




October 31, 2017

(x-S} 5 2(-5) )
(x5 ) T G 4N
Ielo— /Q%'H
6 x RS
" 5 YS!
f(’%; x-4 b X—H
by =274
Y- H
Q(%x |\)




October 31, 2017




October 31, 2017

3 2 (s, 3 [0
(X-1)0+3) x+5 (v -1)
25 40~ B3 7»(1*\%“5
CSDICSaY P T 00es)
(X




October 31, 2017

2 4x-x°
x+4 N X216
. g\\
) ng\
X 4 §< + yN
2 - X PRVARD
X+ Xty P X +H
X 2x°-2
3x+1 (x-5)(3x+1)




October 31, 2017

Split Groups

- split groups in half
- A team & B team

) 9-3x . 22X
(x+3)(x-3) x+3
B). 2x-1 . X+3

3x°+13x+4 X°-3x-28
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Once each team is complete
take turns explaining to the other

team you method solving.

9-3x . 2X
(x+3)(x-3) x*3
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